(ID 0 ) *7
AR EE mra (WE)AM)/THo+IA=A4L 0 #E 1915 4~5 8

xE2 HEITBEREIN A

T8t . RAECE) | 5Lt [B5HEH| 2 3 4
AR | Ro AR RAE(8) A% 112(3|4|5|6|7]|8|9|10/11/12]13|14|15]16|17|18|19|20|21|22|23| 24| 25| 26| 27
1518 BE AT ER AL By E
J5=—+tOyv 3 mg i 309
;5%} . FEH—+ 6.6 mg ° °
EC &P 4 mg/m =¥ EXia)
& /5 3
,gj; , EERIER 50 ml . A
HSERIER 50 ml =431 155
x
pn 3 [ ) o
FMRTIY 70-80 mg/m =431 2B
3 =
% , EERIER 500 ml . A
HKERIER 50 ml =431 15%
i
g 5 [ ) o
i
g |°
i
g |
i
g |°
i
g |°
§ 10
RIEERY 15 g 1B3[EIBR/&al 000000000 000000000000000000
w2 )LY 300 mg 183EI &% 000 00
AR | 3| )RS5y 15 mg 1H3EIBAT 00 00
CAREES 3g 1H3EI &R/ 000 00
IR | 5 |BRIER T RO L/RTSVIR [12-18 ¢ 183EI &% 000 00
HIR | 6
HR | 7
HIR | 8
RR | o
AR | 10
At Gy
[E e o]
dayl5MD R RT RAMITAL B EHRORELRRMIL. 2F=(X3BMET S,
_— BERTE
g
BEREE
1BER=E
2BRREIRE
SERMERE




